thipd BF

AJOvy
1 2 3 4 EES
1 |8k F3 (WR—FZRRH=IL) 4-0 2-4 4-0 1
2 |TE BB (HhHGTC) | 0-4 1-4 (g:g) 4
3 | K¥E =38 (EAHTRBET2ZT) 4-2 4-1 2-4 2
ST e b AS  — 5_4
4 |ZE HEKX (BBHF=RHET17) 0-4 4-2 3
(8-6)
BZOvY
1 2 3 R
1 |80 KBz (H+HGTC) 4-0 41 1
2 |8 & (EBHF=ABES2ZT) 0-4 0-4 3
3 |%&E B (OTSC) 1-4 4-0 2
caovsy
1 2 3 EE S
1 (B #X (Z1)—) 4-2 0-4 2
2 |&E#H @EX EEmT=ABavaz7)|  2-4 1-4 3
3 BB EX (BAYLF=RHI5T) 4-0 4—1 1
D7OvY
1 2 3 R
1|18 &3 (H+9GTC) 4-0 4-1 1
2 (sl RE (EBHT=RBRT2=7) 0-4 1-4 3
3 |HE A ()IR—FZRRI—1) 1-4 41 )




IEHL~—F A2k

ThIb—F AV
1 Bk EFS

2 A0 vz
3 18 &

4 B EX

2 b—F Ak
1 BB H#X

2 &G B3
3 GEE A
4 KiEg EiE

3. 4fh—F Ak
1 25 BX
2 L REs
3 A &
4 FM ERE
5 T AKX

(JIN—FTZRRT— L) e——

(B+HGTC) ——

(Y FrIGTO) — 1,

(AA¥YILTF=RH5T)

(21)—)

(OTSC)

(JIN—TZAR)=))

o

— K1 R

(BBHT=ABERD21=7)

(BBHT=ABERD2=7)

(BBHT=ABERD2=7)

(BBHT=RBRL2=7)

(Y r9GTO)

1 2 | 4 =
4_ E]’J:IH Hll‘.\ﬁ

(BBHT=RBE21=7)



